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MEGOLDASAIT A MEGOLDOLAPRA iRJA!

Olvassa el az alabbi szovegeket és oldja meg a hozzajuk tartozo feladatokat.

1. szoveg

Fast Food Meets The Web

Following the success of the first Internet-enabled Burger King fast food restaurant in New
York’s Wall Street, patrons of the Burger King outlet in Times Square will this week be able to
send electronic postcards over the Internet while munching on their hamburgers. With the
purchase of any value meal, New Yorkers and tourists alike will be given a ticket with a PIN
number that provides them with twenty minutes of free Internet access. Diners can also use
the restaurant’s computer terminals to chat online or hold live video conferences with other
customers — located either in the Times Square outlet or the Wall Street branch.

Time Magazine

Lt Allapitsa meg a szoveg alapjan, hogy igazak (I) vagy hamisak (H) a
" felsorolt allitasok.

There are only two Burger King restaurants so far with Internet access.
Only tourists can use the new service.

Customers can use the Internet for 12 minutes.

Customers pay extra for using the Internet.

Customers in the Wall Street restaurant can see those in the Times Square branch
while they eat.
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Parositsa 0ssze a bal oldalon talalhato szavakat egy jobb oldalon
I1.? taldlhato szinonimaval. A jobb oldali oszlopban két sz6 par nélkiil

marad.
A) eat
6. purchase B) outlet
7. munch C) customer
8. chat D) buy
9. provide E) talk

F) give



2. szoveg

Unemployment

In winter 1997-98, there were 1,861,000 unemployed people in the United Kingdom,
representing 6.4 per cent of the total economically active population. Unemployment has
fallen sharply since the end of 1992.

Long-term unemployment (defined as twelve months or more) is especially serious, because
the longer someone is unemployed the less able they are to compete for jobs. In winter 1997-
98, there were about 583,000 long-term unemployed. This is below the European Union
average and compares with about 853,000 long-term unemployed in winter 1996-97.

Unemployment is not uniform across the regions of the U.K. Merseyside (the city of Liverpool
and the surrounding area), the North East, Northern Ireland and London are the areas of
highest unemployment. The first three of these regions were strongly associated in the 1970s
with traditional industries — shipbuilding, textiles and mining. The high unemployment rates in
these regions are likely to be associated with the sharp decline in these industries. The high
unemployment in the capital reflects the fact that people who are out of work are often
concentrated in cities.

Foreign and Commonwealth Office publication

III % Allapitsa meg a szoveg alapjan, hogy igazak (I) vagy hamisak (H) a
"= felsorolt allitasok.

10. 6.4% of the total British population was unemployed during the winter of 1997-98.
11. The unemployment rate was higher in 1992 than in 1997-98.

12. There was a fall in long-term unemployment between 1996-97 and 1997-98.

13. The unemployment rate in Britain is higher than the European Union average rate.
14. In the 1970s London was a shipbuilding centre.

15. Shipbuilding in the U.K. is still a successful industry.

16. There is a bigger chance of meeting unemployed people in big cities than in the
country.

1V. Z Valaszoljon a kovetkezo kérdésekre.

17. Irja le szammal, hogy minimum hény hénapig kell valakinek munka nélkiil lennie
ahhoz, hogy a hosszutavon (tartésan) munkanélkiiliek csoportjaba tartozzon?

Keresse ki a szévegben eldforduld iparagakat.
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